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is not found in almost all
plant cells.
(A) Centriole
(B) A large central vacuole
(C) 70 S Ribosome
(D) 80 S Ribosome

‘Amber’ is a fossilized form of

. (A) Petrified plant organ

(B) Leaf coal
(C) Hardened resinous secretion
(D) Pseudofossil

A dwarf shoot with two needles is
found in

(A) Pinus gerardiana
(B) Pinus longifolia
(C) Pinus monophyla
(D) -Pinus Sylvestris

Lodicule in family Graminae

represents
(A) Leaf (B) Bract 1
(C) Pedicel (D) Perianth |

In cockroach, the endoskeletal structure,
tentorium is found in the

(A). Mandibles  (B) Thorax !
(C) Abdomen (D) Head |
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The spermatozoids of cycas are
(A) Top-shaped, multiciliated
(B) Biciliated

(C) Non-ciliated

(D) All of the above

In Pila how many teeth are present in
each row of radula ?

"(-A} 21112 (B) 11112

{(C) 10112 (D) 10012

Match List — | with List — || and select
the correct answer using the codes

given below.
List-1 List -1
a. Neomorph 1. Interchromosomal
rearrangement
b. Epistatic gene 2. Masking the
action
of another gene
¢. Codominance 3. Produce a
~ phenotype
different
. from the wild
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Respiratory Quotient (RQ) of organic

acid is

(A) Zero

(B) One

(C) Less than one
(D) More than one

was not given by Darwin.
(A) Pangenesis theory
(B) Mutation theory
(C) Both
(D) Non_p

Iz |

The embryo sac is bounded by the
wall of

(A) Megasporophyll
(B) Endosperm

(C) Megasporangium
(D) Megaspore

. Litmus is obtained from

(A) Red Algae
(B) Bryophyta

- (C) Lichen

(D) All of the above

Which of the following codons usually
codes for valine but can also code
for formylated-methionine as initiator
oodgn.? '

(A) GUG. (B) UG A |
@ UGu . DaAGU. |
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ied b
Red drop effect was StUC'iIGd y
(A) Van Niel (B) Bhnk‘
(C) Emerson (D) €alvin

Which wood is used in making railway

sleepers ?

(A) Shorea robusta
(B) Morus alba

(C) Madhuca indica
(D) All

Theory of origin of species by natural
selection was given by

(A) Charles Darwin
(B) A. Wallace

(C) A. Weismann
(D) H. Spencer

In family caryophylaceae,
placentation is

(A) Frjae central (B) Parietal
(C) Basal (D) Axile

AL

rﬂ"'FThe 1d wings of housefly are modified
into little halteres, During flight these

(A) Do not beat
(B) Beat at same rate as fore wings |
(C) Beat faster than fore wings

~ (D) Beat slower than fwngs #
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23. In which type of fossil, both the

external as well as internal structure
are preserved 7

(A) Petrification

(B) Pseudofossil

(C) Compression

(D) Incrustation
e 4

24, What is the functions of Keber's Organ
~ in Unio ? '

| @ i
- (B) \ ek
(C) Digestive
(D) Reproductive
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What is the dental formula of Rabbit ?

Hardy-Weinberd equilibrium is
affected by

(A) Mutation
(B) Natural sele
(C) None

(D) Both

ction

o e

: nt is not
Which of the following stateme ot
correct ?

(A) Auxins are effective in producing
parthenocarpic fruit.
(B) Parthenocarpic fruits are seedless.

(C) Only gibberellins are eff_ectivg in
producing parthenocarpic fruit.

(D) Parthenocarpy escapes fertilization.

el TS | A

Lichens are good indicator of
(A) Water pollution :_
(B) Air pollution ,
(C) Soil pollution

e e O R |

(D) None of the above !
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Wﬂich of the following is not a filter
feeder ?
(A) Unio
(C) Herdmania (D) Asterias

31.

(B) Amphioxus

32. Node of Ranvier are found on
(A) Cyton (B) Axon
o ;f;-. ) Dendrite {m SYﬂﬁpSﬂ
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34. Beverage yielding plant Coﬁ%a arabica
ia a marnber of the family

naceae(B) Hul:naceae
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s the diffusion of water
other ?

(B) WP
(D) TP
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Chocolate is umamed f the |
seeds of

(A) Erythroxylan coca
(B) Theobroma cacao
(C) Cola nitida

(D) Catha edulis

Of the following who challenged the
Lamarkian theory ?

(A) Charles Darwin

(B) Hugo de Vries

(C) A. Weismann

(D) H. Spencer

In Bacteria, when many flagella present
only at one pole, are known as

(A) Monotrichous
(B) Amphitrichous
(C) Lophotrichous
(D) Peritrichous

Methanogenic bacteria belong to
(A) Mycoplasma

(B) Eubacteria

(C) Cyanobacteria

(D) Archebacteria

Mosses and Ferns produce multicellular
embryo within
(A) Antheridium (B) Embryo sac

(C) Oogo_nium (D) Archegonium
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42. Of the following Euglena belongs to

(A) FEZHEITRR which class ?
(B) A= (A) F’hYtOmastsgophora

(B)
(C) Rh!ZOpOd&
(D) A%ﬂnopoda

- Which is a bisporic type embryo sac ?
(A) Polygonum

(B) #HA1Em .- (B Oenothora
i (C) uferam ~ (©) Allium
i (D) vErEET )A‘fﬁia -
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49.

true about the Indian leech, Hirudinana ?

Of the following which is not the
zoogeographic realm 7 3

(B) Neogea
(D) Palaearctic

(A) Megagea
(C) Notogea

If the thallus of an organisrp eg.a
fungus is entirely converted into one
or more reproductive structures it is
called as

(A) Eucarpic

(B) Holocarpic

(C) Holozoic

(D) Homothallic
Which of the following statements is not

(A) .Its medical use in India dates back i
to around 1000 BC. '

(B) It sucks blood from fish, frog,
cattles and humans.

(C)Digestion of the blood takes
10 to 14 months.

(D) s body cavity i well develope
F

Mendel's work of genetics was based.
upon which of the following ?

(A) Andulusian Fowl
(B) Oenothera Lamarkiana
(C) Pisum Sativum

(D) Drosophila
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51. Globular proteins do not act as
(A) Enzyme
(B) Structural molecule
(C) H'Dﬁnone
(D) Antibody

52, | rescence of family lamiaceae is
~ (A) Dichasial cyme
4 (B) Ver;ﬂeillaster
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(A) FRfe amdadfer
(B) TS WA

56. Proteins of animal origin lack

57.

_-r
»

;e

(A) D-amino acid
(B) Nitrogen
(C) Phosphorus

(D) Sulphur

Which of the following is called as “Wo
Moss” ? |

(A) Cetraria I



51. Rh'gsphere is neither a root nor a
shoot but it is an ' organsul-generls'-
according to scientist

(A) van Teighem
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65. HT yaEAE H YeEtha g suEl
f.vaftm ag =1 39T Feera ?
A) STia HETA
(B) a9y 3gH
(C) ST &wan
(D) wvagHt sTrfaa 2

66. =TEeTH wel = o 3Eifia 2T R
(A) AR{TSH it FH 8
(B) T STENTFATES I T H
(C) H-uwadi @
(D) USTH |

68. vfewfa ane wra S @

(A) =Tt Sarer 3 iy
(B) 1e1-2f Fare & Fifdrufy &
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65. Volume of airinspired or expired during
a normal respiration is termed as

(A) Tidal volume
(B) Residual volume
(C) Vital capacity

(D) Inspiratory reserve volume

66. The formation of gonads in Hydra is
stimulated by

(A) Lack of oxygen
(B) Abundance of carbon dioxide
(C) c-AMP :

(A) Rma

gB) Mamhanﬂa
. (C) Funaria
) None

Algmic écld_:-is found in the
(A) :Cell'wall of Red Algae
(B) Cell wall of Blue-green. Algae *f

(C} Cell wall omewn Algas e 3




70.  gFshl Ffer
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(A) wenTY

(B) whumfiEm

(C) 3t dior

(D) ﬁi‘{:ﬂﬁm‘ng i

69. Most common mycobionts in lichen
belong to

(A) Phycomycetes
(B) Basidiomycetes
(C) Ascomycetes

(D) Deuteromycetes

: T I eukaryotic cell, the arrangement of

axonemal microtubules i in
is referred to as the 9 + 2 array.

(A) Cillia
(B) Flagella
(C) Both
(D) None
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73, fabarsida o 49 6 den ¢ 73. The number of genera inthe |
cephalochordata is
(A) A
(A) Two
{5 (B) Three
(C) IR (©) Four [’

(D) wta (D) Five
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81. WrRetem® Fa # A 9w srufead | 81, In Prokaryotes, of the following which

TR 7 is absent ?

(A) iy fasht (A) Nuclear membrane
(B) WTEEIhITEAT (B) Mitochondria

(C) TR (C) Chloroplast

(D) IuH ¥l . (D) All of the above

82. US WIRHMIEIS forgH #fiwig - A | 82. A Siphonostele with non-overlapping

FEATd B (scattered) leaf gaps is called
(A) "= (A) Meristele
(B) T (B) Eustele
(C) WIS (C) Solenostele
(D) fEfFeaeia

(D) Dictyostele

83. TeFFTAABR FwHNE? | 83 How many chambers are present in
- heart of Frog ? 2t
(A) 2 (B) 3 o (A) 2
4 (B) 3
[C} 4 (D) 5 ; . :

B4 | il - ;
. ftaq FFATSATER T VR & ﬁ;ﬂ* 84, Branch&d conidiophore is foung

g

| in
(A) feiferan A 2 | (A) Penicilium ¥
lﬂj Testad A (B) Rhizopus
ﬁ,w ! (©) Ustilago ._
TG-18/C Wi i () Saccharomyces :
0



85. The alleles of a gene do not show any
blending and both the characters are
recovered as such in the F, generation.

This s%fément is
(A) Law

) L _,'of Dominance
(B) Law of Segregation

......

(C) Law of Independent Assortment
o

il

)) Law of Natural Selection

. of nitrogen fixation is found
n which given algae ?

(C) Rhodophyta




